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I. Very Short Answer Type questions. o ;
4
(i) Answer ALL questions. o E]f%
% (O

(ii) Each question carries TWO marks

G

/rr Find the square root of the comple'x number 7 + 24i.

A}(If Z,= -1 and Z,= i, then find Arg EC%—T] .‘

GF2

(%]

/a»)’ If 1, w, co are the cube roots of unity, then find the value of

N
o

(1-w+m}+(1+m-m). %
4) Form quadratic equation whose rog}s are =3 1 5i.
/8)’ If the product of the roots of ax° + lﬁx -9x=-a=0is9, then find a.
6) Find the number of ways of prepan a chain with 6 different coloured beads.
0
?) If 05 = Ce , then find C Elfﬁ@

0 .
/}’ Find the middle term in lha expaann of [i’f - 2-,;} . @ﬁ
9)Find the mean deviation about lhe,medlan for the following data :
4,6,9,3 10,132
] » ! P P

/wr A Poisson variable satisfies P(X = 3) = P(X = 2). Find P(X = 5).
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53@; 5  SECTION <B (5x4=20)
Il. Shon Answer Type questions., (5:3
(i) Answoer ANY FIVE questlions. o~ 10
(i) Each question carries FOUR marks. & 9177
‘ o OFAZ

1
1+cos0+ising
(5]

12) Prove thal LI B ! doas not lie between 1 and 4, if x is real.
3x+1 x+1 (Ix+1){x+1) &

13) If the 6 letters of the word PRISON are pegmuted in all possible ways and the
words thus formed are arranged in dictiofigry order, find the rank of the word
PRISON. 4n A

14) Prove that

11) Ux+iy=

>
Ty 2

_then show thatdx” —= 1= 0.
™)

O
Con __1.35..(4n-1) S

C (135.2n- N2 o
15) Resolve the following fraction into partial fractions

x2 -3
(x+2) (x2+1)
16) Find the probability that a non-leap year contains (i) 53 Sundays (i) 52 Sundays only.
17) A problem in calculus is given to two studefis A and B whose chances of solving

it'are % and % respectively. Find the prob%ility of the problem being solved if

-—
.

both of them try independenily. @
)
SECTION 3C (5x7=35)
Nl. Long Answer Type questions. g Elfj@
(i) Answer ANY FIVE questions. @ O
(ii)_Each question carries SEVEN marks.

LE )
[l’ﬂlf o, B are the roots of the equation x° - 2%+ 4 = 0, then for any neN show that

an+ﬂn=2n+‘t COS(%] .

19) Solve the equation x° — 5x" + 9x> - 9x° + @c -1 =0.
. ) If nis a positive integer and x IS any non zgIo real nuimber. then prove that
2 3 no n+
X X X X'@(1+x)7 =1
CD +C1-§+C2-'§"+CB-T+-..+CH.

>

n+1lN (n+1) x

4 46 468 o
ft== +....00, then provethat Ot = 16.
A1) 57510 51015 prov

22) Find the variance and standard dovlation éf the following frequency distribution.
[ 4 | 8 11 | 17 | 20 | 24 | 32
| 3| 5 | 9| 5| 4] &1
State and prove Baye's theorom on probabllity.
A random variable X has the following probability distribution :

X =x 0 1 2 3 ol S 6 | 7
PX=x 1 0 | k | 2k | 2k | 3k | & | o& |7&" +«k
Find : (i) k, (i) The mean and (iil) P (08 X < 5).




